oy A O o O Arks

Set No. 1 Question Booklet No.

13U/113/1(3)

Roll No.

(To be filled up by the candidate by blue/black ball-point pen)

Roll No. (Write the digits in WOEFAS) it

Scrial No. of Answer Sheet i

et seeIIsIetIEIRsETRROROREN IO IAORIER TSRS

Dil‘\‘ AU DA cririeiiiiiiererirertassricrasenssarsiresrissssvessatesesonsrses ( Sig"“tul-c ()f [“vigih“(“- )

INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

I.

[ %]

6.

~

9,

10.

I1.

12.

13.
14,

Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it
contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice ot the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

Do not bring any loose paper, written or blank. inside the Examination Hall except the Admit Card
without its envelope.

A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet
shall not be provided. Only the Answer Sheet will be evaluated.

Write vour Rott Number and Serial Number ofthe Answer Sheet by pen in the space prvided above,
On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by darkening the circles at the bottom. Also, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet no. and Set no. (if any)
on OMR sheet and Roll No. and OMR sheet no. on the Queston Booklet.

Any change in the aforesaid entries is to be verificd by the invigilator, otherwise it will be taken
as unfairmeans.

Each question in this Booklet is followed by four alternative answers. For each question, you
are to record the correct option on the Answer Sheet by darkening the appropriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the

first page of the Answer Sheet.

For each question, darken only one cirele on the Answer Sheet. I vou darken more than one circle
or darken a cirele partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. 1f you do not swish 1o aitempt a
question, leave all the cireles in the corresponding row blank (such question will be avwarded
zero marks).

For rough work. use the inner back page of the title cover and the blank page at the end of this
Booklet.

Deposit only OMR Answer Sheet at the ead of the Test,

You are not permitted to leave the Examination Hall until the end of the Test.

Ifa candidate attempts o use any form of unfair means, he/she shall be liable to such punishment as
the University may determine and impose o him/her.
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No. of Questions : 180

WYHT i W& : 180
Time : 2 Hours Full Marks : 450
T 2 qUe yuIfE : 450
Instruction :
fAeer

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under :

A& NeA-TF Sgfedrd g9l 9Y e ¥ qen & @wet (I & 1), Sar |
gfttg 8, § s 2 -

(a) Section-I: Consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject
Awareness in some major subjects.

(1) @S - 1: & 120 Fufascedd Yo AT S, AHRIE Fa qen
7B ged & w9 9 enaia ¥

(b) Section - II : Consists of 30 Objcctive Type Questions on ()
English Language and (II) Hindi Language.

(@) @os - I : § 30 Jgfaseda v (1)3fT=0 W i (1) et s
% S 9T ST € |

The candidate is required to attempt as many questions as he/she
can of Section-I, and Questions on ANY ONE of the TWO Language

papers (I) English OR (II) Hindi in Section -II.
arszreff @ arifera B fF @vs -18 aiftemfee ge e @vs & (1)sfish
a1 (1) &=t wrar 519 & siferemiees qeHl 1 e Y|

Note:(1) Each question carries 3 (Three) marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

3 P.T.O.
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(2)

(3)

SF FOT 3 (f17) SiH w1 R @ qow gew B A 0w o
FIET TR | TA® FIART T BT ATAF g A

If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

39T T
Each question is followed by Four alternative answers (1),(2),(3)
and (4). One of these answers is correct. Select the correct and

record it against the relevant question in the ANSWER-SHEET
by darkening the circle with Ball Point Pen as per guidelines.

qﬁmqw%m%mﬁwwwﬁ@%%{%(1),(2),(3)aen (4)
Wﬁa&ﬁw%lgﬁﬁﬁa@wﬁaﬁ%lwﬁw
P qAT D AR B SRR H aeaerl wew B o
Femgar sfaq gu (Memd) = @@ dfeve 39z w0
AT |
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SECTION -1
RCREE |

Who was the first President of Indian Republic?

(1) Dr. S. Radhakrishnan (2) V.V.Giri

(3) Dr. Rajendra Prasad (4) Dr. Zakir Husain
AT TORST & YW egfd | 97 |
(1) Sfo THo UHTFWTH (2) eodlo FIFY

(3) Efo IEE Yd© (4) Sto wMRRT &
Itanagar is the capital of :

(1) Arunachal Pradesh (2) Mizoram

(3) Sikkim (4) Tripura

AT ST 8

(1) TSI ga9r & (2) PRy &

(3) TafeRRT (4) Brgzr =

At present, how many fundamental rights have been provided by the
Indian constitution to the citizens?

JaaE H 9RA™ 9y gR7 ArieEn @ fbaa Ak 1R e
fFa T B

(1) 7 () 6 (3) S (4) 8

Who has written the Ramayan?

(1) Tulsidas (2) Valiniki (3) Kalidas (4) Vyas
ATl F T fohae @ B
(1) der@ler™ (2) @ il (3) @i (4) =4

5 P.T.O.
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05.

06.

07

08.

The First Five Year Plan started in the year ?

ugH dEadiy AT A geend Fre ad § g2 ?
(1) 1947 (2) 1950 (3) 1951 (4) 1955

The World Health Organisatior: (W.H.O.) was established in the year ?

fagd & e (W.H.O) & @&rger g ad # gg7?
(1) 1948 (2) 1946 (3) 1945 (4) 1944

sSachin Tendulakar scored his 100" century in .

(1) Srilanka {2) Bangladesh
t3) india (4) Pakistan
A= dvgeehy | ouAT 9l 9w g3 RRaT

(1) <icierr # | (2) =ivwRe H
(3) R # | (4) urfpeE &

Chose the correct alternative in place of question mark (?);

Moon: Satellite ::Earth ; ?

(1) Sun (2) Planet
(3) Solor System (4) Asteriod J

ueHfere (?) & @A 9 @8l ey g

1% IqIE:: gedy ¢ ? |

(1) T (2) ue Nt
(3) @R goTEl (4) afeemT
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09.

10.

11.

120
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What value will be obtained if the square of 23 is substractcd from
the square of 29?

208 ¢ ¥ @ 23 FH g g R AT A AR™?
(1) 312 (2) 324 (3) 264 (4) 286

If 'Gold' is called 'Air', 'Air' is called 'Pearl’, 'Pearl' is called 'water,
'‘water' is called 'Red', 'Red' is called 'Rain' and 'Rain' is called 'Road?
Then what is the colour of human blood?

(1) Red (2) Pearl

(3) Gold (4) Rain

‘o’ B qEt qAT ‘qul’ HTWEH' HEl A Al WG RS F T R
B 37

(1) & (2) HIeH

(3) & (4) a9t

In a certain code language 'CREATURE' is written as 'DOBFBXUQ.
How will ' DAUGHTER' be written in that code language?

w% Fifyea e A # 'CREATURE' & 'DOBFBXUQ' fRrarm smar & |
IE e AN H 'DAUGHTER' @&l fe uepry fer@n smaem?

(1) JXRGOWHE (2) GRXJEHWO
(3) GXRJEWHO (4) JRXGOWHE

In an examination it is required to get 840 if the aggregate marks to
pass. A student gets 800 marks and failed by 2% marks. Find the
aggregate passed percentage of the examination ?

U g § 3ot 8 & AT e el § Q840 37 I SAETH
B | & BT 800 3% QI & T 2% OFehi & STRIYT 8 STar 2 1 adien
7 gl @9 & e fpae afaera oist @i enasyeRar 87

(1) 43% (2 42% (3) 44% (4) 45%

7 P.T.O.
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28.

29,

30.

31.

Pune is bigger than Jhansi, Sitapur is bigger than Chittor. Raigarh is
not as big as Jhansi, but is bigger than Sitapur. Which is the smallest?
(1) Pune (2) Jhansi (3) Sitapur (4) Chittor
?aﬁﬂﬁ@%,mﬁﬁsﬁaa%lwm A &9 Brer g,
qifepd IR @ g7 21 i |99 BleT 27

(1) g7 (2) siTen (3) wrTgY (4) ferirs

A train 280 meters long is moving at a speed of 60 km/hr. The time
taken by the train to cross a platform 220 mcters long is :

(1) 30 Seconds (2) 25 Seconds

(3) 35 Seconds (4) 20 Seconds

Teh 280 HieX ol ISl 60 fHdt ufd 792 & =/ 4 =1 @ B
jq;sjﬂzzovﬂaar@wqﬁwaﬂﬁﬁmraﬁﬁmmw
S ?

(1) 30 Gehed (2) 25TH=4

(3) 35TB=H (4) 20 Ghsd

A and B together complete a Job in 16 days, while B and C together
finish the job in 24 days. If A is thrice as efficient as C, in how many
days will all of them working together complete the Job ?

A 3T B UH Y HI TF 1 16 &9 F Hyd & Fafh B X C U
qrey 24 &7 o w3 B F us ary et 39 e @) fhaw @9
7 Y o AR A, C F gAr H A9 AT g gam 27

(1) 48/5 (2) 24/3 (3) 48/7 (4) 96/7

Four years ago. Ram was two times as old as Shyam. Six years later
from now, Ram will be only 1.5 times as old as Shyam. The present
age of Ram and Shyam respectively will be :

(1) 30and 17 (2) 26 and 15
(3) 24 and 14 (4) 20 and 16

12



32.

33.

34.
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AR g UBl IH, AW B GO J &l I & g7 AqT | He q
Iy 18 TH, AT &I AT § dad 1.5 AT SHI&T g97 el | 9 37
QAT FH aIAHE ATY FT &7

(1) 303X 17 (2) 263X 15

(3) 24 307 14 (4) 203X 16

If (x-y)?/ x2-y2=9, then xt+y/x-y=?

e (x-y)?/ x2—y2=9, Bl @l xty/x-y=?
() 3 (2) 9 (3) 1/3 (4) 1/9

The average monthly salary of 20 employees in an organisation is Rs.
1500. If the manager's salary is added, then the average salary
increases by Rs. 100. What is the manager's monthly salary?

(1) Rs.2000 (2) Rs.2400 (3) Rs.3600  (4) Rs. 4800

Ueh G # 20 FHH=El & 3fad JAfdss aa9 1500 $9ar 21 gfg
qE=eh @&l ST oSl ST af ofed daw 100 99T &g Siar € |
ger-eeh h HITh dd- &7 87

(1) Bo 2000 (2) o 2400
(3) ®o 3600 (4) o 4800

A father is 30 times as old as his son . 18 ycars later, he will bc only

thrice as old as his son. Father's prcsent age in Years is ?

ae fOdr o9 g | 30 YA ge1 &1 1899 & 9% g8 U IF 4
Had dF AT GeT Br | far @t adHe oy ad H @ 8v

(1) 45 (2) 40 (3) 30 (4) 25

13 P.T.O.
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35.

36

37.

38.

39.

40.

If x= y=2z and xyz=256 then what is the value of x?

qfe x =y = 22 U xyz = 256 BT a1 x BT AT HIT B 2
(1) 2 (2) 4 (3) © (4) 8

Find the right number, from the given options, at the place marked
by the question mark: 2, 4, 8, 32, 256, ?

2,4, 8,32,256, 7 ® ysaras fae 4@ fafed @ & i &Y W
et & 8 98 g ura Al ?
(1) 4096 (2) 8192 (3) 512 (4) 1024

One fourth percent of 180 is ?
180 &1 weh =g gfaera war ®?
(L) 4.5 (2) 0.45 (3) 0.045 (4) 0.0045

If 250 is increased to 300, what is the percentage increasc?

afg 250 = 300 & @@ AT S @ it ghs @=r Bnfi?
(1) 16.67 (2) 20 (3) 23 4) 17

The ratio of 9 seconds to 10 hours is :

9 AFUS T 10 vl & @1 AU T
(1) 9:10 (2) 1:40 (3) 1:400 (4) 1:4000

At what rate of simple interest per annum an amount will be doubled
in 10 years?

ufe a9 & Fhe @remer e A W | FE 99 10 gut # & e @
Sra?
(1) 10% (2)  7.5% (3) 15% (4) 9.25%

14
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42.

43.

44.

45.
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If 75% of a number is added to 75, the result is the number itself.
What is the number?

H%@H@zﬂaﬂm%jsﬁﬁﬁ@maﬁmaaﬁwwaéﬁr
2| 9Er 1 87

(1) 250 (2) 300 (3) 400 (4) 750
Find the next term of the series: 3, 6, 9, 18, 27, 54,..............
$HH 3, 6, 9, 18, 27, 54,...... e FT AT I& T BT |

(1) 81 (2) 69 (3) 63 (4) 57

Plants cells differ from animal cells in having:
(1) Mitochondria : (2) Cell Wall
(3) Ribosomes (4) Golgi Bodies

g@m%%%m@ﬁ%wwﬁﬁmﬁfﬁ
_ ?

(1) HrEErhitogar (2) epifarEpr Rrd

(3) TEEER (4) Weat G

Which group of plant bears naked seeds?

(1) Bryophytes (2) Pteridophytes

(3) Gymnosperms (4) Angiosperms

ot w8 & @Yl & & T4 B &7

(1) STHEES (2) 2RrwETE

(3) Tor=read (4) QiSTEEH

Which of the following factors are required for the growth of a plant?
(1) Light and air (2) Light, water and air
(3) Light, water and soil (4) Light and water

15 P.T.O.
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Wﬁﬁﬁﬂmmﬁﬂ%«ﬁ»ﬁ%%ﬁﬂmﬂmﬁmqﬁw
)

(1) TehIT SR a1y (2) WeRIST, ST A Y
(3) wepTeT, ST 3T fardy (4) OIemTeT 3T ST

46. In which of the following process , the plants release oxygen?

(1) Photosynthesis (2) Respiration
(3) Transpiration (4) Gutation
Fr=foriaa & pg uftear o 9er sifedi=e Bisg 87
(1) wiea=afad (2) IR
(3) Er|fae (4) ITE™

47. How many chambers are present in the human heart?
(1) Two Chambers (2) Partially three chambers
(3) Three Chambers (4) Four Chambers
qY™ & g=d # [ et el 87
(1) ar @& (2) oTifees dF et
(3) I eReT (4) AT &HeT

48. On which part of the human eye, an Image of an objecct is formed?
(1) Cornea (2) Iris
(3) Pupil (4) Retina
99 & i & fhg 9n @) R axg @ afdafda aeer &7
(1) @if=T (2) smeia
(3) (4) e

49. What is the normal body temperature of human?

A & QR H QHEFY AITH R 87
(1) 8l.1°C (2) 36.9°C
(3) 98.0°C (4) 27.7°C

16



50.

51.

52.

53.

54.

13U/113/1{i)

How many chromosomes are present in a cell of human?

I @ HIFRT H fpas s T S 87
(1) 44 (2) 48 (3) 46 (4) 23

What is an average heart-beat per minute of a normal person?

U G afaa @ gsg-nla ufa e fea-r e 8?
(1) 50 (2) 70 (3) 80 (4) 100

Which is the largest organ in thc human body?

(1) Liver (2) Heart

(3) Spleen (4) Kidney

79§ R H Faq ag1 o A 9 87

(1) @Y (2) &4

(3) wirel (4) 9%

Which one of the following is the causc of the discasc amoebiasis ?
(1) Entamoeba histolytica (2) Entamoeba gingivalis

(3) Trichomonas (4) Leishmania

Frfafga o | o9 sifafaafra i &1 wror 287
(1) TesTHE fBeifafeen (2) TreeTHET Mf~maferd

(3) SISRAATH (4) feremaTi~ET

Which one of the following is associated with the disease 'Ricketts' ?
(1) Bones (2) Blood

(3) Adipose tissue (4) Muscles

frr & & @ ‘R dmmd @ gaftag 87

(1) oAy (2) e

(3) ufeard fesy (4) =iEef

17 P.T.O.
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55. Which of the followmge treao s dhagoonsed hy nsing KOG ?
(1) Bram (2) Heart
(3) Kidney (4) Lungs

2o HAle e 1 3w a9 & i F o e Aer 2v

(1) wfamp (2) Bay
(3) AFF C(4) BEI

56. The disease 'Leukermia’ 1s associated with

(1) Lungs (2) Blood
(3) Skin (4) Nerves
‘TR T e g aAfea 29

(1) %S (2) v
(3) =T (1) At

57 Which discasc is caused by the bite of mad dog?

(1) Checken Pox (2) Malaria
(3) Rabics (4) Mumps
qEr A & wled A R A erdl 87
(1) T J=d (2) wefva
(3) (4) "OId

58. Which of the following s a viral disease?
(1) Small pox (2) Tuberculosis
(3) Tetanus (4) Malaria

frrifarfaa § @ & o aprve dmd 87
(1) IO () TgEvEHEiEE
(3) Py (4)  HATT

18
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59. AIDS is the disease caused by :

(1) Bacteria (2)  Virus

(3) Fungus (4) Parasitic Worms
Q.'??:{:f (jll:”fT Bl HITIT Bl % : .

(1) afeefrm (2) amv|

(3) ®H=1H (4) Hufatees 7Y

60. Which of the following vitamin is useful in keeping the bone healthy?

(1) Vitamin A (2) Vitamin C
(3) Vitamin D (4) Vitamin B
efgdl @ @ A & A fF-a Jafs swen 20
(1) faeifis o (2) fa=ifry &
(3) faartast <€) (4) faaias 4
61. Which of the following is the richest source of protein?
(1) Egg (2) Fish
(3) Chicken (4) Milk
M=t d 9 &9 D& @ tfusman =g 27
(1) 379 (2) weel
(3) e (4) 38
62. A person must drink a lot of water to keep the following organ healthy :
(1) Lung (2) Kidney '
(3) Heart (4) Laer

o AR B M 3 9 g o1 @ wmeer wge & i oetfas qiEn
9 = T mfed ?

(1) BHST (2) FFh
(3) B4 (4) ey

19 P.T.O.
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63. Which of the following Vitamin is found in the sun rays?

(1) Vitamin C (2) Vitamin A
(3) Vitamin K (4) Vitamin D
e & @ @ ar faefis g & e | aman s 87
(1) feoerfas (2) fef o
(3) faerfs & (4) frefrm &
64. Sariska Tiger project is located in :
(1) Madhya Pradesh (2) Gujarat
(3) Rajashtan (4) Assam
afResr g gfEsT safed @
(1) HeAuIer | (2) oI o
(3) TR H (4) oraH #

65. Bhopal Gas Tragedy occured in :

(1) December 1982 (2) December 1984

(3) January 2001 (4) December 2004

A g STEdl |fed g8

(1) fEawa¥ 1982 #H (2) fRE=x 1984 #

(3) TSI 2001 H @) =y 2004 #
66. First Earth summit was organized in :

(1) Stockholm (2) Johannesberg

(3) Rio De Janeiro (4) New York

OeE gl [RRER WEe IS g o

(1) wWrepe™ d (2) Sheraest ®

(3) Rar € = # (4) ~gamh o

20
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67. Who is popularly known as 'Water man'?

(1) Anna Hazare (2) Baba Amte
(3) Rajendra Singh (4) Medha Patckar
‘S gEW H ©9 H AMFEAAT i S Siar @ 7
(1) ST &R (2) @Er 3T
(3) o= e (4) HLT 9T
68. Which one of the following is extinct species?
(1) Indian Rhino (2) Asiatic Cheetah
(3) Asiatic Buffalo (4) Asiatic Elephant
=1 | | @ fag< genfa 27
(1) i T (2) uferard <iem
(3) uferard e (4) clEE el
69. Which one of the following is taken as the 'International date lin¢' ?
(1) O longitude (2) 90° E longitude
(3) 90°W longitude (4) 180° longitude
et & | frgesl orvaiss T fafyr ar & w9 A feam smar 27
(1) O°RQM=<¥ (2) 90°gdl M=
(3) 90°GiggH IT (4) 180°3M=¥

70. Tropic of Cancer is represented on globe by :

1”
(1) 23— N latitude (2) 66—7—Nlatitude

Y

1

! I’
(3) 23S latitude (4) 66 S latitude

21 P.T.O.
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71.

72.

73.

W@ e cheb 4l wetota w1 B

| . ) . :
(1) 23+ 38 et &y (2) 06 3Tl e QT
N P : 1 . :
(3) 23 QIR SEa Zn (4) oo wHavTl sEid alvl

‘Operation Flood' is rclated with
(1) Green Revoiution (2) White Revolution
(3) Yellow Revoluton (4) Blue Revolution

3R G’ wEafed B

(1) efva i< @ (2) A it o
(3) it A () e il A

Hirakund Multipurposc Project is constructed on the nver .

(1) Godawan (2) Mahanadi
(3) Narmada (4) Tungbhadra
ERIGE ag3aai Ui o ®

(1) "eEd Jd 97 (2) #HerEl wd a7
(3) Far T e ) g dd T

'‘Earth Hour' is a world wide compaign against :

(1) Delorestation (2) Waltcer Pollution
(3) Global warming (4) Nuclear hdocaust
<a1ef ama ues faegsadt wfemE ®

(1) FHa-feReor & raas

(2) ST gguT & fEaens

(3) aAfegs WA & Eeh

(4) AR |dA B et

22
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74. Which onc ot the fonowing oil relineries is locatea nicai w oil wells 1o

India?
(1) Barauni (2)  Visakhapatiia
(3) Noonmati (4) Mathura

e o & @ dueiad i diad §oga gt & oo
srafed 27

(1) @ (2) TR

(3)  FErdt () T

75. Which onc of Lhe following counirics is not & mcmber of BRICS?
(1) Brazil (2) Russia
(3) Canada (4y  South Africa
=1 & @I @1 291 fmed 4 ded @ g
(1) arsire - (2) 4
(3) &I (4)  <Tetoll STETh

76. The cssential feature of shiftimg culiivation 1s the :
(1) rotation of Crops
(2) rotation of ficlds
(3) single cropping on a large arca

(4) Intensive agriculture

AN @l @ smenya fagaar 8
(1) dqQrei &1 af s (2) @di & 9iEEHo
(3) fawga &= 9 uger @i (4) TTET iy

77. Which is the main foodgrain crop of India ?

(1) Rice (2) Mauze
(3) Millet (4) Wheat

23 P.T.0.
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78.

79.

80.

e & UgE @R B B 6T 7
(1) =& (2) R
(3) SHE-ATSI (4) g

Which one of the following countries is not membecr of SAARC?

(1) Sri Lanka (2) Maldives
(3) Mauritius (4) Nepal
Frey & Sr-ar 391 A @ ae e 8v

(1) =it e (2) WA
(3) =ML (4) SA9TA

Smallest state (w.r.t. population) of India in 2011 is :
(1) Sikkim (2) Arunachal Pradesh
(3) Mizoram (4) Goa

T 2011 § WRA H wEd B T (S @ gl 1) 8

(1) fafRRH (2) STHUTE Heer
(3) fEH (4) e

Where was Metro Rail started first time in India?

(1) Mumbai (2) Kolkata
(3) Delhi (4) Bangaluru
o § qdue A9 3 HEl g @ TS ot 7
(1) gz (2) eHrereprer &
(3) Tt # (4) IS H

24
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82.

83.

840
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Among the following which one is not a plantation crop?

(1) Tea (2) Cotton

(3) Coconut (4) Rubber
Rrafited § @ S arEr e T8l 8r

(1) =mH (2) hUTH

(3) Ew (4) TR
Largest iron ore producing state of India 1s :

(1) Karnataka (2) Jharkhand
(3) Chhattisgarh (4) Orissa

e aToEF W qad g9 SeEs o 8

(1) HAh (2) FRES

(3) BUIIE (4) IgrEr
Largest reserves of coal is found in the state of :

(1) Jharkhand (2) Orissa

(3) Chhattisgarh (4) West Bengal
ST B Tad St e W ar S ¥
(1) @iREs o (2) IErar A

(3) wETe H (4) Yo Il H
Which one of the following is the largest river basin of India?
(1) Mahanadi (2) Godawari
(3) Krishna (4) Cauverl
Prer § @ @ WG @ G G9! A AR # 7
(1) ¥l (2) TEEd
(3) g (4) HE
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93. Which of the following rivers was known as 'Sorrow of Bengal' ?

(1) Hugli (2) Damodar
(3) Subarnrekha (4) Kosi
Fr=t Jfedl & & @9 ‘A @1 e B sy e
(1) gl (2) amER
(3) wiEn (4) I

94. The headquarters of ‘Survey of India' is located at :
(1) Kolkata (2) New Dclhi
(3) Hyderabad (4) Dehradun

R FderT faumr & genes safiad ¥

(1) ahieTeprar i (2) Y fawel &
(3) TaxrEE (4) <X
95. Which country gifted the 'Statue of Liberty' to U.S.A. ?
(1) UK. (2) Italy
(3) France (4) Spain
[ g § Ry offns fiedl Wo To ate @Y W Rear e
(1) Zodo (2) gl
(3) HH (4) &=

96. What is epigraph ?

(1) Study of coins (2) Study of inscriptions
(3) Study of architectures (4) Study of stone
AfTE a7 87

(1) TE=nl @1 sreqye (2) oG T aTeree
(3) wHIAAT FH eI (4) 9I9ON & STegge
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Who is the author of 'Mein Kampf ?

(1) Otto Von Bismarck (2) Benito Mussolini
(3) Adolf Hitler (4) Giuseppe Mazzini
‘A H¥p’ B AGE DI &7
(1) oIl a9 feadmeh (2) afrer gafer
(3) TwElew feeay (4) 99 AR
Write the name of writer of Kitab-al Hind :
(1) Al- Biruni (2) Farishta
(3) Firdausi (4) Al-Khwarizmi
fpaTa-ater forg & d@ew & A f[ife
(1) STa-faresit (2) i
(3) fereare (4) STE-EeeHl
Which dynasty first established capital at Delhi?
(1) Mughal (2) Chauhan
(3) Tomara (4) Tughlak
Frg ToTEeT ¥ e ol # Ustawi w@fud feRar?
(1) ¥t (2) =
(3) dmY (4) TIH

100. Where did Babar defeate Ibrahim Lodi?
(1) Sonipat (2) Panipat
(3) Hissar (4) Kurukshetra
e} SETed el el gl fhar Ay
(1) @ (2) g
(3) fewr (4) HEAT
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101. Who propagated Suilh i kal?
(1) Aurangzeh (2) Akbar

(3) Shershah Sun (4) Kutubuddin Aibal

qee O @Rl e " oy

(1) AAe (2) 3IREY
(3] QAR I (4)  HIFET T

102 Whenr did the saka era begin?
(1) 60 A.D. (2) 88 A.D.
(3) 7R AD (4) 78 B.C.
MF HAG He T gaN”
(1) 60%o (2) R’Zo

(3) 78%o (4} 78%0 9o

103 Which Silch 7o te assaciated with the compilation of Adi Granth 2

{1t Gurn Nanpalk (2)  Guru Gobind Simgeh
(:3)  Guru Arjun Dev (4)  Guru Tegh Bahadur

P A fae s anfe der & deer @ defig B0

(1) 1% 9 (2) & TMige fHe

(3) T& A g (4) B AT FBEY
104 Who was the twenty-third Tirthankara?

(1)  Mahavira (2) Risabhdceva

(3) Parshvanatha (4)  Shreyansnatha

agad diefeT B

(1) HerdR (2) Ry

(3)  TroeraTe (4)  2AFiF1T
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105.0n which occasion the Jalianwala massacre happened?

(1) Lori (2) Holi

(3) Baisakhi (4) Deepawali
fre ataay qX SIfEraTel AREBIR §AT A1?

(1) I (2) BN

(3) JErE | (4) Sqrae

106.Dandi march is associated with :
(1) To oppose Bengal Partition
(2) To break salt rule
(3) To oppose the Brilish rule
(4) To demand complete independence

21y A T qEY @

(1) &@mar fauem & oy & ke
(2) ¥HH FA drsA & {7

(3) fafesr w9 &1 Ry & T
(4) got @St & A B fg

107.Where was the first session of the Indian National Congress held?

(1) Calcutta (2) Delhi
(3) Madras (4) Bombay
fegq 9T HAW BN qSAT G FHEl FIT A7
(1) et 2) R
(3) wsTd (4) swIg

108.When did the first partition of Bengal take place?

S BT 9eH Ao @e geT Ar?
(1) 1907 (2) 1905 (3) 1912 (4) 1911
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109.Which is also known as the 'Montagu- Chelmsford Reforms'?
(1) Govt. of India Act of 1909 (2) Govt. of India Act of 1858
(3) Govt. of India Act of 1935 (4) Govt. of India Act of 1919

- B GuRY & AW {97 ST S 27
(1) 1909 = s~ 3if% 2fear uge
(2) 1858 &bl g~ 3T =fEgT Uge
(3) 1935 & T~ it Sfear Uge
(4) 1919 I TFHvE 315 e Uge

110.Who was the viceroy when Burma completely became a part of British

empire?

(1) Lord Lytton (2) Lord Ripon

(3) Lord Dufferin (4) Lord Curzon

fafesr wmes & a=t & yof Rem & avg g $9 97

(1) @ forew (2) e foas

(3) g sHi™ (4) @S ol
111.When was the Rowlatt Act passed?

(1) 1912 AD (2) 1916 AD

(3) 1919 AD (4) 1921 AD

Tele Uk & I G or?

(1) 191280 | (2) 1916%0

(3) 1919 &0 (4) 192130

112. Who built Hawa Mahal?
(1) Sawai Pratap Singh (2) Sawai Jai Singh
(3) Sawai Jodh Singh (4) Sawai Jai Singh II
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ga] Hed e STl Are

(1) @aEg gag (&6 (2) war su fHe
(3) wars e e (4) waE sI e 1
113. Who laid the foundation stone of golden Temple?
(1) Guru Arjan Dev (2) Guru Amardas
(3) Bhai Gurdas (4) Hazrat Mian Mir
wol-TifET @ omaR-faen AT TE &4
(1) & ST I (2) TS ITHIEH
(3) g IREH (4) e ot 4R
114.To whom are the Elephanta Caves dedicated?
(1) Vishnu (2) Shiva
(3) Shakti (4) Buddha
uferdeeT T REe FHIdT 87
(1) f&eT (2) P
(3) feRT (4) g=
115. Which state is associated with the Pattachitra paintings?
(1) Rajsthan (2) Tripura
(3) Odissa (4) Gujrat
qeters femerl o Tog & i 7
(1) ST (2) Prga
(3) afifssm (4) TETad
116. Which state is originally associated with the art of Kalamezhuthu?
(1) Kerala (2) Karnataka
(3) Tamilnadu (4) Andhra Pradesh
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HIA-E U FAAGY Fell § oA G 27

(1) A
(3) afferrg

(2)
(4)

117. Who is the author of 'Geetagovinda'?
(1) Shudraka (2)
(3) Sri Harsha (4)
‘Weamfd’ & IEs H g7
(1) <I=p (2)
(3) =0 =&y (4)
118. Who is the author of 'Chandrakanta'?
(1) Maithili Sharan Gupta (2)
(3) Bhartendu Harishchandra (4)
‘GEE’ % AEE hie E?
(1) et eRor 17 (2)
(3) WRa+g sftedx (4)
119. Who is the author of 'Kukurmutta'?

(1) Nagarjuna (2)
(3) Harivansh Rai Bachchan (4)
‘HHIAT ® AGH B &7

(1) AT 2)
(3) R g Teaw (4)

120. Which of the following is a Vedanga?

(1) Vaastu Shastra (2)
(3) Ayurveda (4)
st #§ & A9 ar g &7

(1) arsg me (2)
(3) Cﬂlgaa (4)
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Sqaq

Devaki Nandan Khatri
Jaishanakar Prasad

SRl Hew @
SR IS

Ramdhari Singh Dinkar
Suryakant Tripathi Nirala

Il e ey

Nirukta
Natya Shastra
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Section -II
Language - English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question.
Give the correct choice as an answer.

Directions : (Q.No. 121-124) : Sclect the word nearest in meaning of the
given world :

121. Endeavour
(1) appear (2) appeal
(3) attempt - (4) invest

122. Pardon

(1) for give (2) forget

(3) please (4) tolerate
123.Flop

(1) Strange (2) a total failure

(3) critical (4) serious

124.Transparent ‘ :
(1) Verbose (2) involved
(3) lucid (4) witty

Directions : (Q.No. 125-128) Select the word opposite in meaning to the

given word :

125.Smart :
(1) lazy ' (2) active
(3) indecent - (4) casual

35 P.T.O.



13U/113/1(i)

126.Dejected

(1) gleeful (2) hilarious

(3) impressed (4) elated
127.Trivial :

(1) important (2) small

(3) easy (4) difficult
128.Conservative :

(1) modern (2) liberal

(3) dynamic (4) old fashioned

Directions (Q. No. 129-132) Choose the explanation that catches the
spirit of the idiom given in each question :

129.A snake in the grass :
(1) a secret or hidden meaning (2) not a reliable person

(3) unforeseen happening (4) unrecognizable danger

130.To turn down :
(1) reject (2)
(3) follow (4)

give up
throw

131. To blaze a trail :
(1) to seton fire
(2) to blow the trumpet
(3) to initiate work in a movement
(4) to be hopeful

132. To cry wolf :
(1) to listen eagerly (2) to give false alarm

(3) to turn pale (4) to keep off starvation
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Directions (Q. No. 133-136) Select the right word to fill in the blanks in
the given sentences :

133.He said he would write to us. But he has not written--------------- )

(1) now (2) yet

(3) tll (4) then
134.She has---------- sense of humour.

(1) better (2) quick

(3) good (4) beautiful

135.We----- our work before the guests arrived at our house.
(1) have finished (2) had finished
(3) shall finish (4) shall have finished

136.A good man and useful citizen............
(1) has passed away (2) passaway
(3) have passed away (4) are passing away.

Directions (Q. No. 137-140) Select the part of speech of the underlined
word in the given sentences:

137.Please move slowly.
(1) transitive verb (2) intransitive verb
(3) auxiliary verb (4) none of the above

138.He looked calm.
(1) Adverb (2) Determiner
(3) Adjective (4) Noun

139.She sang beautifully.
(1) Adverb of time (2) Adverb of manner

(3) Adverb of degree (4) Adverb of frequency
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140.1 saw him studying in the library.
| (1) finite verb 2)
(3) participle (past) (4)

participle (present)

gerund

Directions (Q. No. 141-144) Select the correct plural of the given word :

141.Forget-me-not :

(1) Forgets-me-not (2)

(3) Forget-me-not (4)
142.Sheep :

(1) Sheeps (2)

(3) Sheep (4)

143. Step-son :

(1) Step-sons (2)

(3) Steps-sons (4)
144.Knife :

(1) Knifes (2)

(3) Kniffes (4)

Forget-me-nots

none of these

Sheepes

Sheeva

Steps-son

Step-son

Knife

Knives

Directions (Q. No. 145-147) Sclect the word which has been wrongly

spelt:
145. (1) Contact (2)
(3) Decieve (4)
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146.(1) Advantage (2) Defination
(3) Consent (4) Creative

147.(1) Counter (2) Disturbance
(3) Participant (4) Counsillor

Directions (Q. No. 148-150) Fill in the blanks with the correct word/
group of words. :

148. In the weather, there is a -------------- change which you can see and
feel.
(1) Considerable (2) Perceptible
(3) Substantial (4) Complete
149.1-—--------- a new car last week.
(1) am buying (2) was bought
(3) bought (4) had bought
150.-------- is the practice of pretending to be different from what one really
is.
(1) Fraud (2) Forgery
(3) Embezzlement (4) Hypocrisy
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SECTION - II
gus- I
e fe=<t
(el & a fenffst 3 fm)

e A et oot B aR-uR JwRas 9w RE 09 ¥ e ad
S AT Th B 1 IW WE IR @l g |

151. 377 9 9 ferTeher &7 iy w1 7

(1) J&™ (2) T

(3) fererd (4) gerdier
152, ‘ggHEd’ fpaes =T 27

(1) eEETd (2) ST

(3) FH/IaA (4) HA
153. 9iekTehaT &t ST 9REr & Sidela S e 27

(1) o (2) g

(3) FWTETH (4) FEX
154. FEIT 1 gl g 8 § 27

(1) rer (2) |E=T

(3) =g (4) @I
155. gard fras farsy &g o &7

(1) THATgSTTETE (2) THT

(3) aeerHTET (4) FeaTEry
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156. ‘aigaa=gdr fepgent afsenr =017

(1) Tang=Taer #1 (2) AEFRTIET =ATEd
(3) WIRdg (4) TR TE

157. ‘Faamfor fred fedl @1 due 87
(1) (s Qe (2) wEER e faddl

(3) g™ Haxard 4) Frae

158. =9H @ FIF STALEHT AR bl T &f B?

(1) HIAEA PIREEREL
(3) = (4) ST,

159. ‘AT HT GUEH BT o7

(1) ARSI (2) STHA
(3) ATgefeReT < (4) Hlerrare

160. ‘Fuf’ I H A@H BT &7
(1) AT (2) TTEET

(3) T qEd (4) UHEE

161. Taar fewe fpgeh Iy &7

(1) fora &g < (2) fora uare e
(3) T feramar (4) A1 TER
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162. ‘ST 1 Radiarels @i ar 27

(1) &3t (2) 7gs
(3) @& (4) ST

163. ‘U9 § W oid a6’ & g wa g @y &7

(1) IuTd (2) HHBRIT

(3) TEpTen (4) AT
164. ‘e &1 GE qouigar =y &7

(1) Ior (2) |ar

(3) afy (4) Myfar

165. rgHY’ o1 s 4 wrEf § gey 27 |
(1) aTE+ =g (2) arR+a4
(3) A+ HY (4) A+ 7

166. h =T T & AT TE L7

(1) gr | (2) sfrg

(3) TR (4) dgy
167. ‘&Y &% forq @l RAudraris v 87

(1) gEd= (2) ST=<fed

(3) TTF=ET (4) e e
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168. ‘T35 aepfag & Y o191 afere™ &Y Rar &’ Sus [ a8l o=

F B?
(1) &rl (2) T

(3) STEI= (4) sl

169. TE aaT #=47 87
(1) 359 (2) 34T
(3) I (4) IS

170. ‘wfer @ e 4 87

(1) a3@ (2) STIRTH
(3) wi@r (4) =T

171. sﬂﬁﬁaﬁ?wsmzﬂﬁiﬁ%?
(1) farem ) =
(3) framem ’ (4) TNT

172. = § HF G ST TGAEE 87
(1) @I (2) feramar
(3) =TT (4) HTEET

173. ‘siRifyag fawr & R @ @ g3 |8 87
(1) SRR (2) ITFUgr
(3) F=IE (4) EeaghT
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174. ‘f¥Hss’ # B 91 99 27

(1) HHERH (2) E5

(3) TgEY (4) Fgsie
175. ‘I Oig olieqr &l a1 37ef a7 279

(1) efter sreAr

2) AT I F Tl
(3) fomm focia fRa g g e
(4) fRaer e

176. ‘TH 3T W AW H1 & o7} [T 87
(1) T ST B B A A
(2) TS TH B, A@A et 31
(3) T @E @ Afhd 9T 9TEd 8
(4) €T agd 2, =@e arl HH

177. ‘g8’ &1 FH FHIEH ° 97 ©T B8N0
(1) I (2) 3IFd
(3) IR (4) IaH

178. ‘T FH AT AT 27
(1) Me=raaT=h (2) gouaTEES
(3) AR O RESEIEED
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179. 379 | @ 91 9% gfesir B7
(1) IYrET (2) Lo
(3) AT (4) wqsf

180. 39 § gHd 9T&E B T 27
(1) 51« (2) 9t
(3) STFT (4) ag

-
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ROUGH WORK
T
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ROUGH WORK
™ &
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